z;

BT =HJ)LT—%4 / Technical Datall

##{T:JLY / Recommended torque

FNATUTARILEM3x10 / Hexagonal M3-10 : 0.2N-m

& TBH1EF~M2.5x7 / Captive pan head M2.5-7 : 0.15N*m ~ 0.2N*m

FDE R / Other screws : 0.3N=m ~ 0.6N-m

D view

E view

F view

B view

B (BUFEREDOO) / Color Type(End of product number[d11)

¥ RINZ / Components

No. 2% / Part name #=E / Pcs #ME / Material £ - REME / Color-Finish
: a—F—Javy 4 TIVEF 1 Fv X ADC12 DIbN— B R (RERELER)
Corner block Diecast aluminium ADC12 Silver=Painted (Unfinished inside)
) Btk ) TIVEIRH AT A6063S-T5 DIV — B (RERERLIE)
Frame Extruded aluminium A6063S-T5 Silver-Painted (Unfinished inside)
2 IL—L 4 T ILEIRH# A6063S-T5 DIVN— B (RERRLER)
Panel support frame Extruded aluminium A6063S-T5 Silver=Painted (Unfinished inside)
. IRFRIL ) 7 ILZ4R A1100P DIN— -BE (EEEELE)
Panel Aluminium A1100P Silver=Painted (Conductive inside)
5 HN— : 7 JLE#R A1100P DIN— B (REEENE)
Top cover Aluminium A1100P Silver-Painted (Conductive inside)
6 THA— ! 7 L3R A1100P DIVA— - BE (REEENE)
Bottom cover Aluminium A1100P Silver+Painted (Conductive inside)
. a—F—HA—F 8 TPE (TSRAL) TS5vY, T—, RAE—, LK
Corner guard TPE (Elastomer) Black , Gray , Navy , Red
o EMCY—ILRA R vbk 1 BEMMHE (UL4V-0) ARy HTL—
EMC shielding gasket Conductive fiber UL94V-0 Metallic gray
9 H{TE R (ILM3 x 8) 1 E S =T ILAYF
Screw (Flat head M3 - 8) Steel Nickel plated
10 B{FER RANRFRILEMS x 10) 8 &% =R /04—t
Screw (Hexagonal M3-10) Steel Black trivalent chromate
11 BAER GRANERM3 X 5) 4 &% =LAy
Screw (Original trapezoid hex head M3 - 5) Steel Nickel plated
1 BFER GETFRLEFAM25 x 7) 8 &% =l LAyF
Screw (Captive pan head M2.5 - 7) Steel Nickel plated

525 / Code F7ILEH—XR / Aluminium enclosure O—7F—H—F / Corner guard
S B < )LsN— / Silver 7594 / Black
S G $)LiN— / Silver 4'L— / Gray
SN < )LsN— / Silver TME— / Navy
SR 2 )LiS— / Silver Lk / Red

2
4
fn 4 /Title
TAKACHI| BASHAFNhFEHIE a—F—H—RF{EMCY—ILRS—R @ |\|'I
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. EMC SHIELDED ENCLOSURE with CORNER GUARD
7&K E2/Approved & /Checked HIX]/Created FIFE /Product number RE/Scale
iR F [ A< AUGE115-30-50-1[ sy
YERH /Date 2025/06/24 1 7 17

AREDZBEEIMRASHINFEHTEICRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




500+0.8 (7 —RX 4\ #2 / External)

B-B(1:7)
300+0.5 (r—R4\#2 / External)

453

253

D view

R24

E view

&

1= 1
D D
A view

308
B A B

F view 50

£
50

R52

104

C view

A-A(1:7) C-C(1:7)
3 3
486 293
B view
508

Lo

N
=
£
Q
X D-D(1:7)
~
'\:.\é
EN
'
>
)
o
+
Lo

fua/Title
TAKACHI| H#HASHENTFERIE A—F—H—FHFEMCL—ILEr—X @ C}
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. EMC SHIELDED ENCLOSURE with CORNER GUARD
758/ Approved 1% [E/Checked %[ /Created | E!F/Product number RE/Scale
1:7
iR T A AUGE115-30-50-000 sy
{ER B /Date 2025/06/24 2 /1

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C fBl#® / C Frame

450

114

14

_ M3
5 2-M3FH 7R
2-M3 Countersunk

¥ RxImE+E R4k / Same on the other side.

M / Front side

D {8I#% / D Frame

M / Front side

107.7

22.5

2.5

3.3

3.3

ZEM / Back side

% / Back side

a4/ Title
TAKACHI| Bt ahFERTE IR O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
23/ Approved t&X/Checked #I[X]/Created FIFE /Product number RE/Scale
1:35
iR X Fip:N R—/Page
H115 - D500 1ERK B /Date 2024/07/25 3 /17

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




16

22.5

A
LN
V)

226

6.5

250

2-M2.5

14

2-M3FH 377
2-M3 Countersunk

\/

5.5 10.5

ET47K / Total 4 pieces

a4/ Title
TAKACHI| HAZHINFEKIE IL—L () G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel support frame
23/ Approved t&X/Checked #I[X]/Created FIFE /Product number RE/Scale
1:15
iR £ FHt R—/Page
W300 1ERK B /Date 2022/11/16 4 /17

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /\FRRJL / A Panel

249.5 3.5 2 226
@
K ol S [ ® ®
©
©
£
N © )
S 3 3
N
g
ja
i) el R [ 8 8
BH#~Ti%& / Max dim.242+0.5 4-M25FE A2 LAY —T
4-Metal sleeve for M2.5
M / Front side % / Back side
B /\A~J)L / B Panel
K (o3 1 ¢ ¢
| Q| i ¢ 8
M / Front side % / Back side
4/ Title A —
= A == o
TAKACHI| HAZHINFEKIE ISR O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
7&K R/ Approved 1&[/Checked #[X/Created FIE /Product number RE/Scale
1:2.5
thif 3 S e
H115 - W300 {ERL B /Date 2025/04/25 5 /7
AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7

489.4

M / Front side

470

289.4

270

/o
o oAl
o L
o o
o
\& ©)

Bxh~ti% / Max dim. 253+0.5

6-24.5

A#h~ti% / Max dim. 453+0.8

fREES —HA

Surface protective film side

o
<

PAN

<

o
<

ZEm / Back side

W300 - D500

1ERk B /Date

4/ Title
TAKACHI| HAZHINFEKIE FN— () C}
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
3/ Approved 18X/ Checked #1[X/Created FIF /Product number RE/Scale
1:35
iR £ FHt R—/Page
2022/11/16 6 /7

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7

489.4

M / Front side

470

289.4

270

/o
o oAl
o L
o o
o
\& ©)

Bxh~ti% / Max dim. 253+0.5

6-24.5

A#h~ti% / Max dim. 453+0.8

fREES —HA

Surface protective film side

o
<

PAN

<

o
<

Z T / Back side

W300 - D500

1ERk B /Date

m/Title
TAKACHI| HAZHINFEKIE THhi— () C}
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
2/ Approved 1%/ Checked #U[X]/Created FIF /Product number RFE/Scale
1:3.5
iR £ HH R—/Page
2022/11/16 7 /7 17

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




	115-30-50 .pdf
	AUGE115-30-50.pdf

